2021 F R IRT A ARER A H B L 5

TEA

2L AN iy /g }J\%jt

e | wam | | R | s Ll fb | et el

>N YA IYJJ'_\'I E] Eiﬁl\ﬂj

MoV
1 0402910031 | #RieZ 2 | BAREAER T 50125 AR PE R R [ i B R ZG EiER AR AE ] | A= 5 = 75 5 5 i 5
2 0402910762 | fa[ffife 5 (BRSNS | 50125 AR E R [ L T R R ZG R iEB A IR AE] ] | [F= 7 & 7 7 7 5 5
3 0811912169 | Z=fiE 5 [IAREEGERA S | 50125 A P HE R [ L iR R R ZG EiEB A R AR ] | [FE 3 & i 3 7 3 5
4 5321905404 | =R 5 [IRAREGERA | 50125 AR E R [ L R R R R iEB AR AR ] | FE 5 = 75 5 = 73 5
5 9998604954 | F H & 5 | BAREER A ] 50125 AR e RR [ T R R iEBI AR AF ] | [FE 5 = 5 5 = = 5
6 9998610584 | 1L 7 | IAREEAER A 50128 S AE P EOR [ L T R R IEBIA IR AR] | HAE 3 & 3 i & & i
7 9998614378 | FLH JL 2 [IRAREGERA | 50125 A PR [ L R R R B EB AR AR | FE 5 = 75 5 & 75 5
8 9998614710 | M%E K 5 | PRSI ] 50125 s AE =R R [ i R RS S iEBI AR AF ] | [FE 5 = 5 5 & 5 5
9 9998617380 | fa] 4 e 7 | IAREEAER A 50128 AR EOR [ L T R R IEBAERAR] | FAE 7 2 i 73 & i 73
10 | 9998626304 | #4622~ 7 [IAREGERA | 50125 i AR P E R [ I i R R 2 iEB A IR AR ] | FE 7 & i 5 = 75 i
11 9998639638 | 173 % | BAREAER T 50125 AR PR R R [ i R R ZG EiES AR A E] | [FE 5 = 75 5 5 3 5
12 9998651308 | & 1E 5 [ BUAREEGERDA | 50125 A2 E R [ i i p R 2 B A R AE] ] | Rl s 5 = 5 5 & 7 7
13 9998654277 | B4T1E 7 [BAREGERA A | 50125 A PR [ I i R KR R iEB AR AR | FE = 3 & i 3 = i 5
14 9998661020 | [ | BAREAER T 50125 AR PE R R [ i RS R iER AR AE ] | A= o 5 & 5 5 = = 5
15 9998663608 | RX| 7 | BUAREAGERDA | 50125 AR E R [ L T R R 2 iR A R AE] ] | [F= o) 5 & 7 7 & 5 7
16 | 9998665660 | 52 E ik [ BUAREEGERA | 50125 A P HE R [ L i R R 2 P iEB A IR AR ] | FE = 5 = 3 3 & i 3
17 9998667383 | FAmLic 2 [IRAREEAGERA | 50125 AR R R [ L T R R iEB AR AR ]| FE 5 = 75 5 = 75 5
18 9998669239 | J™JtiE 5 | BAREAER A] 50125 AR e R R [ i i R R S iEB AR aE ] | [ 5 = 75 5 5 5 75
19 9998671833 | [ E M 5 BRSNS | 50125 AP H R [ L iR R ZG EiEB A R AR ] | FE 5 e 5 5 & i 7
20 9998672179 | L& 75 2 [IRAREGERA | 50125 A PR [ I R R R R EB AR AR | FE 5 = 5 5 & 73 5
21 9998673795 | #ifhF- 5 | BAREGER ] 50125 s AE =R R [ i R ZG iE R AR A F ] | [ 5 & 5 5 5 5 75
29 9998674742 | 1& UK 7 BRSNS | 50125 A PR [ L TR R R iEBE R AR | F& 5 s 5 5 & i 7
23 | 9998674770 | KRRk 7 [IAREGERA | 50125 AR P HE R [ I i B KRG iEB A R AR ] | FE 5 = 5 5 = 75 i
24 19998676122 [ xilHtE | A | BUAREEAEHDE] 50125 A SRR Rl i B K2 B i EBUE IR AR | [HE o o 75 5 5 5 S
25 9998676397 | H&IE 5 [BUAREEGERDA | 50125 A EH R [ L T R R R ZG R iEB A IR AE] ] | R 5 = 5 5 & 5 7
26 | 9998676650 | Jp e 7 [BAREEGERA S | 50125 AP HER [ I i R R R iEB AR AR ]| FE 5 e 3 3 = i 3
27 9998678648 | /T4 *F 5 | BAREAER T 50125 A = E R [ i i RS S iERIE R AE ] | [F= 5 = 75 75 = 73 75
28 9998679704 | #iS5 My [ BUREEGERDA S | 50125 AR E R [ L T R B R Z R iEB A IR AE] ] | [F= 5 r 5 5 & 5 7
29 9998697845 | it 7 | IAREEAER A 50128 AR HEOR [ L T R R IEBIE IR AF] | FAE 3 & i 3 3 i 5
30 9998699654 | 2= Eii 2 [IRAREAGERNA | 50125 A P E R [ L R R R R iEB AR AR ] | FE 5 = 5 5 & = 5
31 9999600404 | Z=Jik ik | BAREAGER] 501 25 AR PR R R [ T R R R iERIE R A E ] | [ 5 = 5 5 & 5 75
32 9999603005 | 224 A 7z [ BUAREEGERDA S | 50125 AP HE R [ L TR R R 2 R iEB A R AR ] | FE 5 e 5 5 & i i
33 9999610554 | /4% 7 [IRAREAGERA | 50125 A PR [ L R R KA EB AR AR | FE 5 = 75 5 = = 5
34 9999618213 | K&k 4 | BUAREGE | 50125 AR = H R [ i T P KRG S EB AR AR | [F= 5 = 5 5 & 5 5




35 | 9999618293 | 14k J 5 [IRAREAGERA | 501 25 AP H R [ L iR B R ZG EiE A R AR ] | FE A 5 = 5 5 3 i &
36 19999618306 | #RZ ), B [PDUREERES S | 50125 i AP EEAR [ Tl R K2 ES AR AR [ FHE A= 5 & 7 7 & 7 7
37 9999626036 | FSHHE 7 [ BUAREEGERDA | 50125 AP E R [ L Tl R 2 R iEB A R AE] ] | R ] 5 = 5 7 75 75 5
38 | 9999628732 | FF ik 7 | BRSNS 50125 AR EER [ L i R R IEBE IR AR | FE b= 7 & i 3 = i 3
39 9999629459 | X1 & 5 [IRAREAERA | 50125 A P ER [ L iR R R B iEB AR AR ] | FE ) 5 = 75 75 = 73 5
40 9999632593 | Heftite 5 | BAREER A] 501 25 s AR e R R [ T R R iE B AR A F ] | [ ) 5 = 75 75 & 5 5
A1 19999639415 | B3 = | A [IAARABERTIR ) 50124 i A2 SR [l ii PO KRG i B IR v ml ] | 1A | [ ) = ) ) = ) )
42 19999659122 | 4T | Lo |BUREEAERIR A 50125 A S AR TRl i b B K2 B iEBTA IR AR | W& A& & s e w e % %
43 9999660180 | A lm#E 5 | BAREGER ] 501 25 s AE e R R [ i R 2GR iEBE R A F ] | [ A 5 g 75 5 & 5 5
44 9999660256 | ZRlET 7 (BUREEGER A | 501 2 AR PR [ I T T B R A S EM AR AR ] | FE ] 7 & 73 73 & i 7
45 19999664683 | ZFEH 5| BAREEGERR T 50125 AR ER [ L i R R IEBE IR AR ]| A= b= 7 & i 7 & 7 74
46 0825903134 | B~ o [IAREEGE A 50245 B i 1 5 filli& [ (A s B A BR A A ] EbSS ] = 5 = 75 5 5 75 5
47 0825903155 | 4k 5 5 PR 50245 B 11 5 il ik [ 1L A Bl A PR A ) k=8 ) & 5 = 5 7 7 75 5
48 [ 2000920173 | Ze4E T 5 AR 5025 EL et 5l [ i s B A BR A &) ] Gib=S A 3 & i 3 7 i 3
49 9998671329 | [ili &2 EE 5 | IR 50245 B i 11 5 illiE [ A s Bl A PR A A ] =S Eb=3 5 = 75 5 & 73 5
50 9998671748 | #i g 5 IR F R 50245 B % 115 il ik [ 1L A AL E A PR A 7] k=8 Gl 7 & 7 7 & 7 7
51 9999643136 | &5 5 IR A 5025 EL it 5l [ i s B A BR A 7 ] B A 3 & i 3 = i 3
52 | 9999664332 | sKmN 7% 7 [PAREEE 5024k EL it 5 )i [ Ll A s Bl B A BR A 7] ) = Eb=S 7 & 74 7 & 7 7
53 9999664800 | H Uk 5 IRAREAERA 50245 B % 11 5 il ik [ 1L AR s AL E A PR A 7] Eb=S ) = %5 e 5 5 & 5 5
54 (9999639194 | %Ak & 5B BRGNS 78R BIRAF . R AENEEARGRAR.| F= b= 3 & 3 3 & i 3
55 9999644933 | Z=HEF 7 [BUAREEGERNR A 7R BIRAF . T RIEYAENEEARGRAR.| F= A 5 & 7 7 = 75 5
56 | 9999645680 | M B | BAREGERNR AL O BIRAA . T RBEAEEEARGRAR. | X GlsS 7 & 7 7 & 5 7
57 9999656468 | ZE#k B [ BIAREAERNR A 78R BRAF. T RIEEAENEEARGRAR.| F= ) & 5 = 5 7 & i 7
58 9999658772 | 4% 2 | BUAREGERIA S TR BIRAE . T RBEANCHFEARGR A | [F=E ) 5 = 75 5 = 73 5
59 | 2000622367 | #EFF 2 | BDAREEGERR A 505 E R AR A [ 2 B 48 A A BR A 7 ) G 7 & 7 7 7 7 7
60 2000626092 | FHIHE B | BAREEGERR S| 505 BN S A [ 5 BRI B [ A0 A BR 8 7 k=8 ) & 5 = 5 7 7 75 75
61 2000691248 | B4R 5 [PIAREGER A | 505 B0 I EEAAR T A [ o Bl £E A A A B 2 7 ) Gibss 3 & i 3 = 75 75
62 | 2000691249 | FHkz 5 | BIAREAESR AT 505 B SR A [Hh 5 B £ P I 40 A BR A = ) & A= 7 = 7 7 7 7 7
63 2000691250 | 52748 5 [ BUAREEGERA | 505 ER R EEAART A [ 2 Bl £E A A B 2 ] k=8 ] 5 = 5 7 7 75 5
64 | 2000691251 | E% 5 |IAREEAERUA 505 BRI EEAAR S R [ 5 B RIEE A R A 7 B b= 7 & i i = i i
65 | 2000925051 | FRiRME 5 | BAREEGERR AT 505 B S A A [ b 5 B R AR I A A BR A 7 G b 7 & 74 7 7 7 7
66 2000925052 | o 5 | BAREAER A 5050 R AR R A [ H 5 Bl S B4 6 BR A 7 Eh=S ] = 5 = 5 5 5 5 5
67 | 2000925060 | /N 7 | IAREEAER AT 505 BRI AR AR [ 5% BN RIEE A PR A F ) ) 7 & i 7 3 3 &
68 [ 2000925061 | ¥i3¥% 7 [PUAREEGER A 505 ERIEEAARR A [ Hh 2 Bl AE 0 A BR A A Bk A 7 = = 5 7 7 75
69 | 2000925247 | %= B | BAREGESR | 505 BRI G A [ o BRI AR A0 A BR 8 7 ) A 75 & 74 7 7 5 7
70 9998601043 | F4 Kk 5 [BUREGERA S| 505 E0 R AR A [ 2 Bl £E [ 4 B 2 7 k=3 ) 7 & 7 73 & i 7
71 9998601555 | F2 7]k 5| BAREEGERR S| 505 E R EE A A [ b 5 B R AR 40 A FR A A Eibss Eb=S 7 & i 7 7 i 3
72 | 9998602218 | ¥rEEFf 2 | BDAREEGER A 505 E R AR A [ 2 B R 48 A A BR A 7 EbSS Gib=s 7 & 7 7 & 7 7
73 9998602416 | Wt} 5 | BAREGERR S| 505 BRI G A [ 5 BRI B [ A0 A BR 8 7 k=8 Eb=s 5 = 5 7 7 75 75
74 | 9998604306 | A% 5 | BAREEGERR S 505 B EE A AR [ rh 5 B R AR 40 FR 2 A B Gib=) 3 & i 3 = i 5
75 | 9998604509 | Bk 7 | BAREEGERR AT 505 B G A A [ 5 BRI AE I A A BR A 7 ) & A= 7 & 7 7 7 7 7
76 9998611746 | HEPE 5 (BRSNS | 505 ED R AR A [ 2 Bl il £E A 4 B 2 7 k=8 Eb=s 5 e 5 5 = e 7
77 | 9998639665 | #i iR E 7 | IAREEAERUA 505 BRI BEAAR S R [ 5 EORIEE A R A F b= A 5 = 5 5 e = =




78 | 9998652893 | & Iyt 7 | BAREEGESR AT 505 B[R EE A A [ b 5 BRI AE A0 A FR A A A = A = 7 = i 74 7 i i
79 9998654491 | # A o [IRAREEAERA | 5050 R EEAAR T AR [ H o Bl 48 A A A BIR 2 7 El=S ) 5 = 5 5 & 73 5
80 9998658499 | 7% 7 [ BUAREEGERDA S DO BE G L HIE R AR [ LRGSR I A IR A F] Rl ) 5 = 7 7 & 5 7
81 9999626111 | Z= LMk 5 |IAREEAER S DR BE Y EEHIE RO [FH IS A R AR AR [AE A 5 = 5 5 = & 3
82 9999628150 | Ftik 7 | BRSSP BE O G R [ IS YR M AR AR [FE ) 5 = 5 5 & 7 7
83 | 9999654867 | 1 & 5 [BUREEGER S D6 e G AR [P LB A A I AR A F]l FE ) 5 =2 % % = = 7
84  |9999663545 | Fkziis 5 [IUAREGERAS | 50THUMIE e B Bk [ L s R A BE 2 7 B Eb=3 3 & 3 3 & i 3
85 9998657029 | rmit2E 5 [RAREAE RN S pOSEY BE Y FEHIIE F AR [ L i AN R AR AR ] FE A 7 & 7 7 & = 5




